Yyi/1
-1000 -990 -980 -970 -960 -950 -940 -930

T e e e T T o I
gctctattcctcagcctccactggaccctgagggtctccaggcaggacggtgectecectecatctgectagtgtectgetga

-920 -910 -900 -890 -880 -870 -860 -850
T e L e e e e e I
gcctggacacagagga gagctgtag_gccccaggcaggaaggaccctgcagacggggctggag

YY1l/2 YY1/3

-840 -830 -820 -810 -800 =790 -780 =770
o S S O T S e S T
gtacgtccggggagcgagq tgggctcctgctcccgecatggacccccccaccactaccctecgagataaggggyg

Yyl/4
=760 =750 =740 -730 =720 -710 =700 -690

e e e T o e e S S L e I
cccctggtgtgcgacctcacctc_ctgtgttttccctgcaggatagagaaatgggtgtgtttgcttgttaata

-680 -670 -660 -650 -640 -630 -620 -610
Lttt st et ot et st T ety At e toat at tamcat

-600 -590 -580 -570 -560 -550 ggiéS -530
tgenetagtetgoacton st aqaoonnssant st aotam ot BBt it et aoct ity

-520 -510 -500 -490 -480 -470 -460 -450
R [ (A A [ R IR B K R RN IR IR SR ISR B
gaaacttcataaagaacaattttgttccggctcctggagaagagtctatttctgatttaaagagagggagaagtcagacyg
YY1l/6

-440 -430 -420 -410 -400 -390 -380 -370

gcatgggggctacaacgaggtcct _cggggagctaacccagggcttggcctggagtggccagg
YY1/7 YY1/8

-360 -350 -340 -330 -320 -310 -300 -290
S S e e e e o e o e e I I B
Icccagccgggcaggacctggctaggcccactcaaaaatggctcagggggctgcttgggtagggaaaatggggtccc
YY1/9 YY1/10
-280 =270 -260 -250 -240 -230 =220 -210
S 1 e e e
-gtccggttggatgtgaaatccaccatcacgggagtcagcgctgtcttggtcaccatcatgccgtgtgcacctgccag

YY1/11 YY1/12
-200 -190 -180 -170 -160 -150 -140 -130
e e e T I T T
ctcgcacccacgccageccect@eatcecctccccageateccctgcaccgtgeccagacaacctgtgecaatgetgggattt
YY1/13
-120 -110 -100 -90 -80 =70 -60 -50
e e T o e
agctttcccaagectectgggggeccaggtetcaggecagagg ctggccogggofiooees=ogcatggsiees
YY1/14 E2F/10 GARP GC-box E2F/11
-40 -30 -20 -10 +1 10 20 30

afg8cgtccggctgtgcccggecteeggaagggeggatetGGCCA HNEBBBEEA CAGGAAGCGTGTAGGAAGCGTGGCG

40 50 60 70 80 90 100 110

T e e e e e e e e e T
CCTCAGCCACAATCGTAATCACCTTTAATCTCTTGCTCAAAATAACCCAAAGTCAAGgtaaggaggattacagggcctaa

120 130 140 150 160 170 180 190
e e e e e e e e L e e T AT Ry [
gagccctcaccacaggcacagggaggaggcttgggggecctggggectgetcececggetcectect agctgagggctg

¥Y1/15 E=box/4

200 210 220 230 240 250 260 270
e T S o L o S e e S [ L I
gagggctgcatg. gggtt-tgtgtgtgtg-tgtttgtgga-tatacctgtgtccacccac

280 290 300 310 320 330 340 350

T S e S [ e e e e e e e
a-tttgt -agccctcgtatgtgtgtgccaggttgtctgtgtgtgtgtacagatgtgtgtgcacaggtgt
YY1/16

360 370 380 390 400 410 420 430

1 e T e e e e T
gtacacagggcaggtgattgtgtacatgagtgcgcaggeccatgctcactggggccctgggcagagcaggtgtcactgagg

440 450 460 470 480 490 500
e e T e I I e
accccctgtctgggcagcgaggectggggectectggtgegtectggggectgggtggaggcaggt



